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GENERAL STUDIES (PAPER-III)

QUESTION PAPER SPECIFIC INSTRUCTIONS
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ﬁmmTWENTYqueﬂimupﬁnmdbﬂhinHlHDllndlnmmH.

ALL questions are compulsory.
The numbcrofmlrkl:-rriadhquuuﬁmfpnnhhﬂwmm
Mmmunhﬁmmmemﬂummwmmtmwﬂﬂmuﬂ
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
hlmdiumnthurlhnnth:mmwhnd

provided. No marks will be given for answers written
one. ,
to 10 should be in lmmmmmw

Answers to Question Nos. 1
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.
mywurwdmemmmmmwm-ma@ustmu

clearly struck off.
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1. e vigf v el e & vhde 3, arindi i i wn & fred 4 s
(= 150 vt & 9ifm)
Explain intra-gencrational and inter-generational issucs of equity from the
Hﬂpecﬁmﬂhduﬁmpnﬂhlndmuﬂmhlcdﬂﬂome
[Answer in 150 words)
3¢ 5e 5o 30 (e e Be) W T B v 35 Bkl D s B 3 B2-2
S §, W YA W W9 EWE He o Te (Fite e o) = wR w01 ® O @ B

(zm 150 vt & few)
Define potential GDP and explain its determinants. What are the factors that have
been inhibiting India from realizing its potential GDP?

(Answer in 150 words)
- v & i T ¥ s w e § gen ol = §7

(== 150 v & i)
mtmmemﬂnm:tﬁnuhmmdmuhﬁngﬂqﬁmhurﬂpmdum
in India?

[Answer in 150 worda)

# wm w8 0 el @ e v 8 e s 9 Seits woere @ s
wis 3 82 9 = wh b7

(¥ 150 vt & ifam)
mlmmmmdnﬂumﬂﬁuﬁmmmhmemnm

Hw:antnﬂnm:nfthtﬁumﬂ:hemhmnﬁﬂh'hnu-ﬂbymnt@qhod
processing?

(Answer in 150 words)
T Imm TRt T ahivmaw

8.

(39 150 wedl § 9fim)
What do you understand by nanotechnology and how is it helping in health sector?
(Answer in 150 words)

¢ foam it e 3 eod o% e gen ¥ Ree-suia doffel o R 3 s e
whads =0 §7

(s 150 el & Aftm)
Hwhadmuintummdecpbﬂﬂmmrﬁrn?m:uﬂumm’l:h
agriculture triggered off by the science-based technologies?

(Answer in 150 words)

TR S (o WMo ve) Wi, 2020 www A fo W wo ftrgEn, 2006
A5 fim ¥

: (== 150 w=i & $ifim)
How does the draft Environment Impact Assessment (EIA) Notification, 2020 differ
from the existing EIA Notification, 20067

(Answer in 150 words)
T W wE g ¥ W WOER T vale wa it e 6 v frived w87

(3 150 et # diftr)
WhumthenﬂmtﬁutmudﬂuJﬂﬂukﬁahhiymlmmchndbythe
Govmmmtnfhdhfnrmmmmmnitﬁ

(Answer in 150 words)
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Discuss difr, varheeonh
i f:rﬂﬂtt?pﬂnftrberﬁimulndmrur:quir:dmhclﬂtmtuﬁght

(Answer in 150 words) 10
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(Answer in 150 words) 10
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(W 250 vad) § ifem)
Exphhthcmunh;uﬁmmtmmminm-u{ﬂpimm.
Dh:unthehchumh:mn:ﬁnudwhﬂ:dcmiulmmmt
bﬂwemapuhﬁcmﬁtymdnpﬁuumﬁtjr.

(Answer in 250 words) 15
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(3 250 v & $fm)
Explain the rationale behind the Goods and Services Tax (Compensation to States)

Act of 2017. How has COVID-19 impacted the GST compensation fund and created
new federal tensions?

(Answer in 250 words) 15
/ﬂn-ﬂ(mﬂﬁmnﬂtﬂﬂmq}mmmt?nmtmmmtm
7 sifiremy &8 & nf 87

(I 250 weit & i)
What are the major factors responsible for making rice-wheat system a success?
In spite of this success how has this system become bane in India?

(Answer in 250 words) 15

147 frfrm viiges # fAd w3 avam & o 9@ vigrm ain fnd woneh 3 gum & 39w = gee)

(am 250 e} A &)

Suggest measures to improve water storage and irrigation system to make its
judicious use under depleting scenario.

(Answer in 250 words) 15
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250 weat & dfa)
COVID-19 pandemic has caused - i
tect ol e unprecedented devastation worldwide. However,

'8 are being availed readily to win over the crisis. Give an
fAccount of how technology was sought to aid management of the pandemic.

(Answer in 250 words) 15
/Mﬁmi%ﬁtmﬂﬁmﬂmﬁiﬂmlﬁﬂhlﬂm
Tl WOER TR W e v 87

(sm 250 west & dif)
Describe the benefits of deriving electric energy from sunlight in contrast to the
mrmumdmﬂnm.m:mmwﬁuﬁmuﬂmdhywrmt
for this purpose? :

(Answer in 250 words) 1S
- MW W T W R ol wse Ty W (We Mo g dle) @ v fadvand v 17

(am 250 vl & 9ifim)
What are the key features of the National Clean Air Programme (NCAP) initiated by
the Government of India?

[Answer in 250 words) 15
e

v A g wfafFmers Tm @ el w v s o e ey i sfiem el @
fada i)

(3 250 vl § @fim)

Discuss the recent measures initiated in disaster management by the Government
of India departing from the earlier reactive approach.

(Answer in 250 words) 15
| #® gl wm A el par & Buls = B aofae 49 @ ol & seod we s, aefes
YA T e @ W e amied ) s afig?

(zm 250 vl & €ftm)
What are the determinants of left-wing extremism in Eastern part of India? What

strategy should Government of India, civil administration and security forces adopt
to counter the threat in the affected arcas?

(Answer in 250 words) 15
srafrs g wadl v fem Y wfts wmw, wern s ofeem W w@ @ seod ®
fardw ifi fafim guan =@ To @ wd § fonk of v © R 8 S

(3w 250 vl & dfm)
Analyze internal security threats and transborder crimes along Myanmar,

mmcmmmmwmmnrmm.mmuunm
role played by various security forces in this regard.
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(Answer in 250 words) 15

URC-G-GST/21 4 21BS—10830




